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Q.4 Solve the following system 

 10x+2y+x=9 

 3x+20y-2z=-44 

 -2x+3y+10z-22 

 by gauss seidel method to two places of decimal. 

 fuEufyf[kr iz.kkyh dks gy djsa 

 10x+2y+x=9 

 3x+20y-2z=-44 

 -2x+3y+10z-22 

 xkWl lhMu fof/k }kjk n'keyo ds nks LFkkuks rdA 

Q.5 Define Runge -kutta's method. 

 juxs dqêk dh fof/k dks ifjHkkf"kr djsaA 

Q.6 Define inner product space-cauchy -schwarz inequality. 

 vkarfjd mRikn LFkku&dkWph JktZ vlekurk dks ifjHkkf"kr djsaA 

Q.7 Define Eigen values and Eigenvectors of a linear 

 transformation. 

 vk;rkdkj vkSj /kkrkad forj.k dks ifjHkkf"kr djsaA 

Q.8 Write a short note on Finite dimensional vector spaces. 

 dkbZ LDok;j fof/k dks ifjHkkf"kr dhft,A 
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Note :- Attempt any five questions. (each question carries equal 

 marks)  

Q.1 Using Newton Raphson method find the equal root of the 

 equation 3x-cosx+1. 

 U;wVu jSIlu fof/k dk iz;ksx djds lehdj.k 3x-cosx+1dk cjkcj ewy Kkr 

 dhft,A 

Q.2 Find  a root of the equation x
3
-x-1=0 using the bisection 

 method.  

 lef} Hkktu dk iz;ksx djds lehdj.k x
3
-x-1=0 dk ewy Kkr dhft,A 

Q.3  Find the value of  
𝑑𝑥

𝑥

0

1
 by Simpson's 

 rule. Hence obtain value of loge
2
.  

 flEilu }kjk eku Kkr dhft, 

   
𝑑𝑥

𝑥

0

1
   

 vkSj loge
2 
dk eku Kkr dhft,A 
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